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MARGINAL UTILITY THEORY
<

Utility Is the benefit or satisfaction
that a person gets from the
consumption of a good or service.




MARGINAL UTILITY THEORY
<

e Total Utility

— Total utility is the total benefit that a person gets
from the consumption of a good or service. Total
utility generally increases as the quantity
consumed of a good increases.
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MARGINAL UTILITY THEORY
<

e Marginal Utility

- Marginal utility is the change in total utility that
results from a one-unit increase in the quantity of
a good consumed.
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Total Utility and Marginal Utility

No of cones Total utility Marginal Utility

0 0 utils

1 30 utils 30 utils
2 50 utils 20 utils
3 60 utils 10 utils
4 65 utils 5 utils
5 68 utils 3 utils
6 69 utils 1 utils
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Total And Marginal Utility

Utils 70
60 - Total Utility
50
gg: f_ 1. The change in total utility from
20 | one more ice cream cone . . .
10 :
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Ice Cream Cones per Week
_ 2.1s called t_h_e marginal utility 3. Marginal utility falls
Utils 55_ . of an additional cone. SE TETE GO ElrE
20 ! consumed.
107 ¢ v —e o Marginal Utility
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MARGINAL UTILITY THEORY
<

- Diminishing marginal utility

- We call the general tendency for marginal utility to
decrease as the quantity of a good consumed
increases the principle of diminishing
marginal utility.

L;JL»A.\S\ J}A\ IR suz\.u.uls 69 A A Alad) 'L



MARGINAL UTILITY THEORY
<

e Maximizing Total Utility

- The goal of a consumer is to allocate the
available budget in a way that maximizes total
utility.

- The consumer achieves this goal by choosing the
point on the budget line at which the sum of the

utilities obtained from all goods is as large as
possible.
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Utility Maximization
]

e Utility Is maximized at a point at
which marginal utility per dollar
IS the same for both goods.




Consumer decision making

Income = $150, Px =$ 30 each, Py =3%$10 each

No of MU from | MUX/Px No of MU from | MUy/Py

X last X y last y

0 - - 15 o0 )

1 1500 50 12 100 10

2 1200 40 9 150 15

3 600 20 6 200 20

4 450 15 3 350 35

S 360 12 0 - -
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Consumer Decision Making

Number of

y per
Month

15

MU MUy
Py Py
MU: .. MUy,
Py Py
MU MUy
P Py

5 Number of x per

Month
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What Happens When Things Change:
Changes In Income

e Arise in income—with no change in price—
leads to a new quantity demanded for each
good

- Whether a particular good is normal (quantity
demanded increases) or inferior (quantity
demanded decreases) depends on the
Individual’s preferences

e As represented by the marginal utilities for each good, at
each point along the budget line

&JL&A—\S\ J}A\ IR Gu\.u.u\s 69 A A Alad) 'L



An Increase In Income
<« ]

Income = $300, Py =$ 30 each, Py =%$10 each

No of MU from | MUX/Px No of MU from | MUy/Py
X last x y last y
3 600 20 21 20
4 450 15 18 30
5 360 12 15 50
6 300 10 12 100 10
I 180 6 9 150 15
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Effects of an Increase in Income

Number of 30 2. If his preferences are as given
y per 27—+ in the table, he'll choose point H
Month
1. When Max's
Income rises
to $300, his
budget line
shifts 15
outward. 121-&------- 3.But different marginal
9— utility numbers could
. lead him to H'or H”
3_ _______
I 1

12345678910 Number of x per
Month



Change In Price - Deriving the Demand Curve

1. When the price of x is $30, 2. If the price falls to

Number of 15 point D is best for Max. $10, Max's budget
y per line rotates
Month 104 rightward, and he
8T--N7f~""- choose point J.
6 —
0 30

3. And if the price drops to
$5, he chooses point K.

Price per g30-4 - -- .
X

4. The demand curve shows
; the quantity Max chooses
10—---- : at each price.

3 7 10 Number of x per
Month
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Consumer Surplus

e The difference between what a consumer
IS willing to pay for an addition unit of a
good and the market price that he/she
actually pays Is referred to as “consumer

surplus”.



Four Possible Buyers’ Willingness to Pay

Buyer Willingness to Pay

John $100
Paul 30
George 70

Ringo 50



The Demand Schedule and the
Demand Curve

Quantity
Price Buyers Demanded

More than $100 None 0
$80 to $100 John 1
$70 to $80 John, Paul 2
$50 to $70 John, Paul,

George 3
$50 or less John, Paul,

George, Ringo 4



The Demand Schedule and the Demand Curve

Price of
Album

$100 John’s willingness to pay
80 [ Paul’s willingness to pay
70 [ George’s willingness to pay
50 [ ~ Ringo’s willingness to pay
Demand
|
0 1 2 3 4 Quantity of

Albums



Measuring Consumer Surplus with the Demand Curve

(b) Price =$70
Price of
Album

$100

John’s consumer surplus ($30)

Paul’s consumer

70 surplus ($10)

Total

50 — consumer
surplus ($40)
Demand
| I
0 1 2 3 4 Quantity of

Albums



Using the Demand Curve to Measure
Consumer Surplus

e The area below the demand curve and
above the price measures the consumer
surplus in the market.



Figure 3 How the Price Affects Consumer Surplus

Price

(@) Consumer Surplus at Price A,

Consumer
surplus

Demand

Q, Quantity



Figure 3 How the Price Affects Consumer Surplus

Price

(b) Consumer Surplus at Price A,

Initial

consumer
surplus
nsumer surpl
Py @ Consumer surplus
B to new consumers
P ‘. .................... / ........................ :
2 D : E

Additional consumer i
surplus to initial
consumers

Demand

Q, éz Quantity



What Does Consumer Surplus Measure?

e Consumer surplus, the amount that buyers
are willing to pay for a good minus the
amount they actually pay for it, measures
the benefit that buyers receive from a good
as the buyers themselves perceive it




PRODUCER SURPLUS
<

e FProaucer surplusis the amount a seller Is
paid for a good minus the seller’s cost.

e It measures the benefit to sellers
participating in a market.






The Supply Schedule and the
Supply Curve

Quantity
Price Sellers Supplied
$900 or more Mary, Frida, 4
Georgia, Grandma
$800 to $900 Frida, Georgia, 3
Grandma
$600 to $800 Georgia, Grandma 2
$500 to $600 Grandma 1

Less than $500 None 0



The Supply Schedule and the Supply Curve

Price of
House

Painting Supply

$900 Mary’s cost

800 —

Frida’s cost

600 — Georgia’s cost

500

Grandma’s cost

0 . 2 3 4 Quantity of
Houses Painted



Using the Supply Curve to Measure
Producer Surplus

e The area below the price and above the
supply curve measures the producer surplus
In a market.



Measuring Producer Surplus with the Supply Curve

(a) Price = $600

Price of
House

Painting Supply

$900
800

600
500

Grandma’s producer
surplus ($100)

| | I
0 1 2 3 4

Quantity of
Houses Painted




Measuring Producer Surplus with the Supply Curve

(b) Price = $800

Price of
House |
Paintin upply
. Total
producer
$900 ~ surplus ($500)

800

600
500

Georgia’s producer
surplus ($200)

Grandma’s producer
surplus ($300)

Quantity of
Houses Painted




How the Price Affects Producer Surplus

(@) Producer Surplus at Price P4

Price

Producer
surplus

Supply

Quantity



How the Price Affects Producer Surplus

(b) Producer Surplus at Price ~,

Price
Additional producer Supply
surplus to initial
producers
D
Pz.. .................. ..\. ..................
Pl ...B ..... . ..: .............................
Initial Producer surplus
producer to new producers
surplus
A

0 Q; Q, Quantity



Consumer and Producer Surplus in the Market Equilibrium

Price

Equilibrium
price

A

Consumer
surplus

Producer
surplus

Supply

Demand

Equilibrium
guantity

Quantity



